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DEE |2 (4] 1600 70| 35| 270 6
3 (4)] 1800 75| 40| 300 6
fie & &l R & (% )] 1600 65| 35| 280 6| ZDMth, FEEZEIETRLTIZELY,
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RRE 2A as| 1600 72| 39| 235 BRB R TE,
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ERE |28 am| 1500 60| 20| 250 SRR
BE ] 17001 70| 25 300 SMERER SEEXEER. BOS%
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FFREZE  ¢%| 2200 85/ 50| 330
B-+Z#EK EBE8 dp| 1700 70| 40| 260 B+ i EGH
B+ M®kE 3] 1500, 65 35| 200 LWEE
PN 1 45| 1600 50| 40| 250
2 ] 1800| 65 50| 300
B 2000, 75| 55| 300
EBEE1/2) 1600| 65| 45 230
LW 1700 70| 45| 260
17WE 1500| 65| 40| 220
SRR 1200 60| 35| 200
3NWE 900| 40| 25| 200
REBEBGH-B-4) 600 20| 20| 230 450cc X 3
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M | BE | K(e) [P(me)] &l | B27K5 5z
B @ 1400 50 15| 700 6 600|DW : 40kg
B @a 1600 50| 1.5| 700 6 700|DW: 45kg
B Qb 1800/ 60| 1.5/ 800 7 750|DW : 50kg
& @ 2100 70| 15| 800 7 900(DW: 60kg
B @ 2500 80| 1.5| 800 7 900|DW : 70kg
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AMNSURI= |8 125ml| 200 1.5 1.5 g%gﬁﬁ%ﬁ 11 945| 028 120 120 1.5 2| 0.08] o.011 1.34
HFTFR =S IR 125mI[ 75| 06 Ofues o6l 111| o003 75| 80 5 01| o4 3
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THIAATISTINGE 20 125ml 200 75| 56[ammmmemmios| 1| 94| 036 179 113| 15| 14| 013

ANFYRIZ a—E—B | 125ml 200\ 75| 75|semssmsese| 1| 945 028 120/ 120/ 15| 2| 008

RFFSR @K M=DAL2o 8| 125m 75| 06|  OzsmHisetistse) | 06| 111| 003 75| 80| 5 0.1

7yFL&FrOvk| 125ml 75 0.3 0 |23.3(42 8 18 3 Hk#E5e) 03| 111 0.04 54 80 5 0.18

JL—F &I N—~y—| 125ml 75| 03|  Ofssmmissemmse| 03| 111] 002| 15| 80| 5 0.18

E-7 I (%K 7=2) 100mi7=Y) 100 o 2|32 6(4E 153k 1) 0.8 84| 046 130 60 10 0.2
Tt F 250ml 250 10.5|  13.9[200(4526.5%i#3 5¢) 212| 0.59




